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a b
Prototype BaOi2Rug
AFLOW prototype label AB12C6_tP76_85_2c_6g-3g-001
ICSD 61387
Pearson symbol tP76
Space group number 85
Space group symbol P4/n

AFLOW prototype command aflow --proto=AB12C6_tP76_85_2c_6g_3g-001
—~params=a, C/Cl, Z1,22,L3,Y3,23,T4,Y4,24,T5,Y5,25, L6, Y6, 26, L7, Y7, 27, L8, Y8, 28, L9,
Y9, 29,210, Y10, £10, L11, Y11, 211

Simple Tetragonal primitive vectors
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a; = ax
a = ay
ag = CZ
Basis vectors
Lattice Cartesian Wyckoff Atom
coordinates coordinates position type
B, = ia1+iaz+z1a3 = iai—i—%ay—i—czli (2¢) Bal
B, = Sa;+3a;— 2 a3 = Sax+3ay—cn2 (2c) Bal
B; = i1a;+1a)+2mas = lax+iay +cni (2¢) Ba II
B, = %314*%32*2233 = %af(Jr%ayfczQZ (2¢) Ba IT
Bs = T3a1 +Yy3az + z3a3 = arz3X +aysy +cz3 (8g) Ol
Bg = —(1‘3—%)31—(y —%)32—1- = —a(xg—%)fc—a(y —%)y—&—czgi (8g) Ol
z3as
B, = f(ygf%) a; +r3as + 23a3 = 7a(y37%))2+a$3y+0232 (8g) (OB
Bs = ygal—(x;;—%) as + zz as = aygi—a(xg—%)y—i—cz;gi (8¢) Ol
By —r3a; —yzas — 23as = —ar3X —aysy — cz3 % (8g) OI1
Bio = (z3+3)ai+(ys+3)ax—z3a3 = a(zs+ i) x+a(ys+3)§—cz (8g) (O
Bi1 = (ys+ %) a1 —z3a2 — 2343 = a(ys+3) X—azsy — cz32 (8g) 01
B> = —ysa + (!L‘g + %) as — zzas = —aysX+a (.’L‘3 + %) Y —cz3% (8¢) OI
Biz = Tga; +ysas + 24 ag = aryX +aysy +czy Z (8g) O1II
B = —(z4—%) al—(y4—%) ay+ = —a(x4—%))2—a(y4—%)y+0242 (8g) O1II
Z4a3
Bis = —(y4—%) a; +x4a0 + 24483 = —a (y4— %) X+axyy+czz (8¢) oI
Bis = yaay — (x4 — 3) az + 24 a3 = aysX—a(zg—3) §+czi (8g) on
Bir = —T4a] —Ysa — 2483 = —aryX —aysy — cz4 2 (8g) Ol
Bis = (z4a+3)ai+(ya+3)ax—za3 = a(zatz)X+ta(yat+z)y—cuz (8g) Ol
Big = (y4 + %) a; —xrgas — 2443 = a (y4 + %) X—aryy —cz4Z (8¢) O1II
B2 = —ysar + (x4 +3) ap — z4 a3 = —ayX+a(zs+3)§—cuz (8g) on
B2y = Tsar +ysaz + 253 = arsX + ays § + cz5 Z (8g) O I
Bz = —(z5—3)ari—(y5—3)as+ = —a(zs—3)%x—a(ys—3) 9+t (8g) O III
25 as
Bys = —(ys— 3) a1 + @522 + 25 a3 = —a(ys — 1) X+ aws§ + cz5 2 (8g) O III
By = Ysa; — (z5 — %) as + 25 a3 = ay;,fc—a(xs — %) V+cziz (8g) O III
Bos = —T5a; — Y5 as — 25 as = —axsX —aysy —cz5 2 (8g) O III
By = (a:s—i—%) a1+(y5+%) as—zsag = a(xg)—&—%) )?:—I—a(yg)—i—%) Y —cz52 (8¢) O III
By = (y5+ %) a1 — 582 — 2523 = a(ys +3) X —azs§ — cz5 2 (8g) O III
B2s = —ysai + (z5+3) a» — z5 a3 = —aysX+a(zs+3) §—czs2 (8g) O I
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